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TRIANGLES

1. AC = AD and AB biseets A. show that

AABC = AABD. What can you say about


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_moSYylkDQb28

BC and BD?

o Watch Video Solution

2. ABCD is a quadrilateral in which AD=BC and
/ZDAB = ZCBA.Prove that:

(i) A ABD = A BAC


https://dl.doubtnut.com/l/_moSYylkDQb28
https://dl.doubtnut.com/l/_igG5WjFMiBo5

(i) BD = AC

(iii) LZABD = /BAC

° Watch Video Solution



https://dl.doubtnut.com/l/_igG5WjFMiBo5

3. AD and BC are equal perpendiculars to a line
segment AB. Show that CD bisects AB.

o Watch Video Solution

4.1 and m are two parallel lines intersected by

another pair of parallel lines p and q. Show


https://dl.doubtnut.com/l/_UKtTaiolaSER
https://dl.doubtnut.com/l/_mmZMkVfNGzmz

that A ABC = A CDA

° Watch Video Solution

5.Line | is the bisector of an angle ZA and B is
any point on li. BP and BQ are perpendicular

forms B to the arms of ZA. Show that:


https://dl.doubtnut.com/l/_mmZMkVfNGzmz
https://dl.doubtnut.com/l/_S0sYmNaFSjxK

N APB >~ AN\ AQB
(i) BP = BQ or B is equidisitant from the arms

of ZA.

o Watch Video Solution

6. In given figure, AC=AE, AB=AD and

/BAD = /FEAC.Show that BC = DE.


https://dl.doubtnut.com/l/_S0sYmNaFSjxK
https://dl.doubtnut.com/l/_d83HgTBKFsyI

o Watch Video Solution

7. AB is line segment and P is its mid point. D
and E are points on the same side of AB such
that BAD = ABE and EPA = DPB show that

(i) ADAP =~ AEBP


https://dl.doubtnut.com/l/_d83HgTBKFsyI
https://dl.doubtnut.com/l/_cFxfH8Bm7F6e

(i) AD = BE

A \\B

o Watch Video Solution

8.In right triangle ABC, right angled at C, M is
the mid-point of hypotenuse AB. C is joined to
M and produced to a point D such that DM =
CM. Point D is joined to point B. Show that

(i) AN AMC = A BMD


https://dl.doubtnut.com/l/_cFxfH8Bm7F6e
https://dl.doubtnut.com/l/_4caIckCxGeFS

(i) ZDBC' is aright angle.
(ii) A DBC = N ACB

1
(ivCM = EAB

D A
> .

o Watch Video Solution



https://dl.doubtnut.com/l/_4caIckCxGeFS
https://dl.doubtnut.com/l/_vbyuEObNaO13

1. In an isosceles ABC, with AB = AC, the
bisectors of /B and ZC intersect each other
at O. Joint A to O. Show that:

(i) OB =0C

(ii) AO bisects ZA

° Watch Video Solution

2. In A ABC,AD is the perpendicular

bisector of BC. Show that A ABC is an


https://dl.doubtnut.com/l/_vbyuEObNaO13
https://dl.doubtnut.com/l/_s1wxTjHPexKJ

isosceles triangle in which AB = AC.

o Watch Video Solution

3. ABC is an isosceles triangle in which

altitudes BE and CF are drawn to equal sides


https://dl.doubtnut.com/l/_s1wxTjHPexKJ
https://dl.doubtnut.com/l/_SNIKi8Jv9COg

AC and AB respectively. Show that these

altitudes are equal.
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° Watch Video Solution

4. ABC is a triangle in which altitude BE and CF

to sides AC and AB are equal. Show that


https://dl.doubtnut.com/l/_SNIKi8Jv9COg
https://dl.doubtnut.com/l/_yzNMUaoI6k8b

AABE = AACF

(i) AB = AC, i.e., ABC is an isosceles triangle.

o Watch Video Solution

5. ABC and DBC are two isosceles triangles on

the same base BC. Show that,


https://dl.doubtnut.com/l/_yzNMUaoI6k8b
https://dl.doubtnut.com/l/_C1fVwZEOl6if

N ABD = ZACD
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o Watch Video Solution

6. A\ ABC is an isosceles triangle in which

AB= AC. Side BA is produced to D such that AD


https://dl.doubtnut.com/l/_C1fVwZEOl6if
https://dl.doubtnut.com/l/_UZVAUhW9xxFu

= AB. Show that ZBCD is a right angle.

D

° Watch Video Solution

7. ABC is a right triangle in which ZA = 90°

and AB = AC. Find /B and ZC.


https://dl.doubtnut.com/l/_UZVAUhW9xxFu
https://dl.doubtnut.com/l/_tNgYOixAsB7M

O Watch Video Solution

8. Show tht the angles of an equilateral

triangle are 60° each.


https://dl.doubtnut.com/l/_tNgYOixAsB7M
https://dl.doubtnut.com/l/_VMGMlGDPs2uD
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o Watch Video Solution



https://dl.doubtnut.com/l/_VMGMlGDPs2uD

1. A ABC and A DBC are two isosceles
triangles on the same base BC and vertices A
and D are on the same side of BC. If AD is
extended to intersect BC at P, show that:

(i) AN ABD = A ACD

(i) AN ABP >~ A ACP

(iii) AP bisects £ A as well as ZD


https://dl.doubtnut.com/l/_4SS5HiGkSdCp

(iv) AP is the perpendicular bisector of BC.
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° Watch Video Solution

2.AD is an altiude of an isosceles triangle ABC

in which AB = AC. Show that


https://dl.doubtnut.com/l/_4SS5HiGkSdCp
https://dl.doubtnut.com/l/_mhF5Fx7YdswU

(i) AD bisects BC (ii) AD bisects A.
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o Watch Video Solution

3. Two sides AB and BC and median AM of one
triangle ABC are respectively equal to sides PQ
and OR and median PN of A PQR. Show that

AABM =~ APQN


https://dl.doubtnut.com/l/_mhF5Fx7YdswU
https://dl.doubtnut.com/l/_alioXmmopazR

(i) AABC =~ APQR
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o Watch Video Solution

4. BE and CF are two altitudes of a triangle

ABC. Using RHS congruence rule, prove that


https://dl.doubtnut.com/l/_alioXmmopazR
https://dl.doubtnut.com/l/_gZRkW2ia5ZHS

the triangle ABC is isosceles.

A

o Watch Video Solution

5. ABC is an isosceles triangle with AB = AC.

Draw AP | BC to show that:


https://dl.doubtnut.com/l/_gZRkW2ia5ZHS
https://dl.doubtnut.com/l/_rzH5K8MdjpIt

/B = /C.

o Watch Video Solution



https://dl.doubtnut.com/l/_rzH5K8MdjpIt

1. Show that in a right angled triangle, the

hypotenuse is the longest side.

A

° Watch Video Solution



https://dl.doubtnut.com/l/_IDngrlYuRyZZ

2. In the given figure sides AB and AC of
AN\ ABC, are extended to point P and Q
respectively. Also /PBC < ZQCB. Show

that AC > AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_WdfI4JXOmSNJ

3. In the given figure, /B < /A and

/C < /D.Showthat AD < BC.
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o Watch Video Solution



https://dl.doubtnut.com/l/_WKcrgrKc9K83

4. AB and CD are respectively the smallest and

longest sides of a quadrilateral ABCD. Show

that /A < Z/C and /B > /D.
D

° Watch Video Solution



https://dl.doubtnut.com/l/_Gn1fx2IoD7id
https://dl.doubtnut.com/l/_prCylN9kUJCi

5.In the given figure, PR > P() and PS bisect
Z@QPR. Prove that:

ZPSR > ZPSQ

P

e

o Watch Video Solution



https://dl.doubtnut.com/l/_prCylN9kUJCi

6. Show that of all line segments drawn from a
given point not on it, the perpendicular line

segment is the shortest.

A&

o Watch Video Solution

Exercise 5 5 Optional



https://dl.doubtnut.com/l/_kbNOtkPUVd6e

1. ABC is a triangle . Locate a point in the
interior of A ABC which is equidistant from

all the vertices of A\ ABC.

o Watch Video Solution



https://dl.doubtnut.com/l/_hoUWC6uxgk0n

2.In a triangle, locate a point in its interior of
which is equidistant from all the sides of

triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_xZhOaZkD6tFM

3.In a huge park, people are concentrated at
three points.

A: where there are different slides and swings
for children.

B: Near which a man-made lake is situated.

C: which is near to a larger parking and exit.
Where should an ice-cream parlour be set up
so that maximum number of persons can
approach it?

(Hint: The parlour should be equidistant from


https://dl.doubtnut.com/l/_gijFbLs12x9D

AB and C.)
A

=

o Watch Video Solution

4. Complete the hexagonal and star shaped

Rangolies, By filling them with as many

equilateral triangles of side 1 cm as you can.

Count the number of triangles in each case


https://dl.doubtnut.com/l/_gijFbLs12x9D
https://dl.doubtnut.com/l/_IJbrQ24pdRRJ

Which has more triangles.

o Watch Video Solution



https://dl.doubtnut.com/l/_IJbrQ24pdRRJ

